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STATESOF MATTER

1. Volueme occupied by 7gm of Nitrogen at 27*C and 750mm Hg pressureis  (BHU1997)
1)2.46litre 2) 4.24litre 3.)6.24litre 4)8.42litre
Hint:PV=(W/M)RT

2. For an ideal gasthe graph between PV/RT and T is (M-1995)

— Ve
PV PV
RT RT
1) T 2) T
A A
ar \/ = /
RT RT
3) T 4) i
3. Onemole of argon will have least density at (E-1998)
1) STP 2) 0°C, 2atm
3) 273°C, 2atm 4) 273°C, latm
Hint: ‘d ‘is proportional to p/T
4. What aretheconditionsunder which therelation between 'V’ and ‘n’ are plotted (2001)

1) At constant P 2) At constant P, V

3) At constant T, V 4) At constant P, T
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5. The volume-temperature graphs of a given mass of an ideal gas at constant pressures are
shown below. What isthe correct order of pressures? (2006)

DP1>P3>Po

2) P1>Py>P3

0
Pr>P3>Pq 0c 7
4)P2>P1>P3

6. At standard pressure and temperature conditions the density of a gas in g.lit~1, whose
molecular weight is45 (1996)
12 2)22.4 3)11.2 4) 1000

Hint: at STP, d=GMW/22.4

7.  Thevolume of 2.8g of carbon monoxide at 27°C and 0.821 atm pressureis

(R=0.0821 lit-atm mol-1 K -1) (1998)
1) 1.5lit 2) 0.3 it 3) 3lit 4) 30lit

8) 7.5g9gr of agasoccupiesavolumeof 5.6lit at NTP. Thegasis (2001)
1) COy 2)CHg  3)NO 4) SOy

9.  What is the density (in g lit -1) of CO9 at 400 K and exerting a pressure of 0.0821 atm

(R =0.0821 lit atm mol-1 k-1) (2002)

1) 0.01 2) 0.11 3)25 4) 44
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10.

11.

12.

13.

14.

15.

16.
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The volume of a gas measured at 270C and 1 atm pressure is 10 litres. To reduce the

volumeto5litresat 1 atm pressure, thetemperaturerequired is
(AFMC)

1) 75K 2) 150 K 3) 225K 4) 300 K

Thedensity of agas‘S at 2 atm and 270C is1.3 gm / lit. Then thegas‘S may be

1) CHy 2) Oo 3) SO» 4) CO9o

HINT: PM=dRT

Theweight of 112 ml of oxygen at STP, on liquifaction would be (DPMT)
1) 0.32g 2) 0.64g 3) 0.169 4) 0.969

A gaseous mixture of threegases A, B and C hasa pressure of 10atm. The total number of

moles of all the gasesis 10. The partial pressure of A and B are 3 and 1 atm respectively. If

C has a molecular weight of 2, what is the weight of C in grams present in the mixture?
(1998)

1)6 2) 3 3) 12 4) 8

Thetotal pressure of a mixture of 6.4 grams of oxygen and 5.6 grams of nitrogen present in
a2 lit vessel is 1200mm. What isthe partial pressure of nitrogen in mm?
(2000)

1) 1200 2)600  3) 900 4) 200

At 270C, a closed vessel contains a mixture of equal weights of helium (mol. wt = 4),
methane (mol.wt = 16) and sulphur dioxide (mol. wt = 64). The pressure exerted by the

mixtureis 210 mm. If the partial pressure of helium methane and sulphurdioxide are Pq,

P2 and P3 respectively, which one of the following is correct? (E-2002)
1)P3>P2>P1 2)P1>P2>P3  3)P1>P3>Py 4)Pa>P3>P

x gm of water is mixed with 69 gm of ethanol. The mole fraction of ethanol in the resulting
solution is 0.6. What isthevalueof ‘x’ in gm (M-2004)

1) 54 2)36  3)180 4) 18
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17.

18.

19.

20)
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A and B are ideal gases. The molecular weights of A and B arein theratio of 1: 4. The

pressure of a gas mixture containing equal weights of A and B is P atm. What isthe partial

pressure (in atm) of B in the mixture? (E-2005)
1) P/5 2) PI2 3) PI25 4) 3P/4
Gaseqgation PV=nRT isobeyed by (BHU2000 )

l)isothermal processonly  2) adiabatic process only 3)bothland2 4)none
The molecular weight of a gaswhich diffusesfour timesfaster than O2is (AFM C2002)

1) 2 2) 4 3)8 4) 16

Thermsspeed of Hydrogen is V7 timesthe rms speed nitrozen. If Tisthe temprature of

the gas, then
1) T, =T, 2) T, >T, 3) T, <T, A)none
KEY:
1)3 2)1 3)4 4H4 51 62 7)1 83 9) 3 10) 2

11)2 12)1 13)3 14)2 152 16)4 17)1 183 192  20)3
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